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QUESTION 1

Which two Hitachi Device Manager CLI commands will prevent simultaneous updates on a storage array? (Choose
two.)

A. AddArrayReservation

B. DeleteArrayLock

C. ModifyArrayReservation
D. GetArrayLock

Correct Answer: AC

QUESTION 2

What are two network requirements for an operational Hitachi Device Manager installation? (Choose two.)
A. a TCP/IP network for connection between the management server and the management clients

B. a TCP/IP network for connection of the management server to the storage systems

C. a Fiber Channel connection between the management server and the storage systems

D. a public subnet for connection between the management server and the management clients

Correct Answer:. AB

QUESTION 3

Using Hitachi Device Manager, and after launching the Element Manager, you want to specify a logical device (LDEV)
as a Command Device on a VSP storage system. Which two conditions must the LDEV satisfy? (Choose two.)

A. The LDEV must be at least 128 MB in size.

B. The logical device must not be reserved for Shadowlmage in-system replication.
C. The emulation type must be OPEN-V.

D. The logical device must not be on a RAID1 parity group.

Correct Answer: BC

QUESTION 4

You want to add a VSP which has an externally connected HUS110 into your Hitachi Device Manager (HDvM)
environment. What is required to prepare the environment for storage virtualization?
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A. Only the VSP must be added to Hitachi Device Manager.

B. Only the HUS must be added to Hitachi Device Manager.

C. Both storage systems must be added to Hitachi Device Manager.

D. At least one of the storage systems must be added to Hitachi Device Manager.

Correct Answer: C

QUESTION 5

You are creating new users within Hitachi Device Manager and must ensure that the appropriate permissions are
applied. What are two valid user management permissions? (Choose two.)

A. Edit

B. Peer
C. View
D. Create

Correct Answer: BC

HQT-6740 PDF Dumps HQT-6740 VCE Dumps HQT-6740 Practice Test

HQT-6740 PDF Dumps | HQT-6740 VCE Dumps | HQT-6740 Practice Test 3/3


https://www.passapply.com/hqt-6740.html
https://www.passapply.com/hqt-6740.html
https://www.passapply.com/hqt-6740.html
http://www.tcpdf.org
https://www.passapply.com/hqt-6740.html
https://www.passapply.com/hqt-6740.html
https://www.passapply.com/hqt-6740.html

